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The test is closed book, with two sheets of notes and calculators allowed. S%ow all work. Be sure t?)/ state
all assumptions made and check them when possible. The number of points per problem are indicated
in parentheses. Total of 100 points in 3 problems on 3 pages (4th page has Laplace transform pairs).

1. The Laplace transform of an output voltage is:
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(b) Use the Initial and Final V&k;e Theorems to check your results. (1 ) l\) 0
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2. For the circuit to the right, note that the
switch opens at ¢t = 0,
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(b) Find I.(s) (Laplace transform of capacitor current).
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3. (a) Find the transfer function H (s

for the circuit to the right. Assume no é ﬁ:
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(b) Calculate the impulse response for this circuit. (10) m[) %W
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(¢) If vi(t) = u(t) — u(t ~ 50), calculate and sketch v,(t) versus time (seconds).
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